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ANSWERS
Task 1 Task 2 Task 3 Task 4
Practice Practice Reasoning Problem solving

Can you answer all
of these two times
table questions?

O0x5=0

4x5=20

10x5=50

7x5=35

3x5=15

1x5=5

8x5=40

12x5=60

11 x5=55

Complete the multiplication
wheels using your knowledge
of the 5 times table!

25

10

Explain your answers.

5a. Danny needs 40 seeds to be able fo
plant 8 in 5 flower boxes becavse 8 x 5=

40.

$b. Lisa needs 30 glue sticks fo be able fo
put 5 on 6 tables because 6 x 5 = 30.

6a. The number could be 20, 25 or 30
becauvsed x5=205x5=25 6 x5=30.

6b. The number could be 40, 45 or 50
because 8 x5=40,9x5=45,10 x 5= 50.




